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1.

20,81 or -10,81A.

19,14 or -9,14B.

24,21 or 18,21C.

17,14 or -18,21D.

Three students A, B and C independently solve an exercise with
probability of correct solution 1/2, 1/3 and 2/5, respectively. They submit,
without revealing their identity, their solution and the professor finds two
correct answers. The probability that student A gave the wrong answer
is:

2.

0,22A.

0,44B.

0,33C.

0,50D.

3.
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0,83A.

0,66B.

0,34C.

0,65D.

4.

A.

B.

C.

D.

5.

0,25A.

0,08B.
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0,48C.

0,3D.

The mean and standard deviation of 15 numbers is 3 and 1 respectively.
If we add the number 3 to the double of each number, then the new mean
and the new standard deviation will be respectively:

6.

6 and 2A.

6 and 4B.

9 and 7C.

9 and 4D.

7.

B and CA.

A and CB.

A and DC.

C and DD.

8.
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A.

0,998B.

0,925C.

0,075D.

Two boxes A and B contain 50 balls numbered {1 ,2 ,3 ,…,49 ,50} each.
From each box we randomly select one ball. The probability that the
number of the ball selected from box B is less than that of the box A at
least by 2 is:

9.

0,53A.

0,45B.

0,25C.

0,47D.

A box contains 3 red, 6 white and 2 black balls. Red balls contain 2 euros,
white balls 1 euro and black balls are empty. We choose 3 balls at random
and give the red ones to Thanos and the white ones to Maria. The
probability that Thanos gets more money than Maria is:

10.

0,39A.

0,15B.

0,61C.

0,33D.
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The mean weight of 21 employees is 80 kg. Charalambos, Vasiliki and
Loukas are among the employees. Charalambos weighs twice as much as
Vasiliki and Loukas is 12 kg lighter than Charalambos. If Charalambos,
Vasiliki and Loukas are removed from the group, the mean weight of the
remaining employees is 79 kg. Loukas weighs:

1.

96 kgA.

54 kgB.

110,4 kgC.

98,4 kgD.

A number is randomly selected from the set A={10, 13, 14, 15} and a
number is randomly selected from the set B={15, 17, 19}. The probability
that the sum of the two numbers is a multiple of 3 is:

2.

0,33A.

0,25B.

0,67C.

0,75D.

3.
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0,2A.

0,375B.

0,035C.

0,625D.

4.

0,89A.

0,25B.

0,11C.

0,33D.

5.

2 / 5



A.

B.

C.

D.

3 / 5



A gift is placed in one of 5 identical boxes. Marios is asked to choose a
box at random. If he chooses the box containing the gift, he gets the gift
and a new gift is placed in the box. If he does not choose the box with the
gift, then the gift is placed back into one of the 5 boxes. Marios tries 3
times. The probability of winning exactly 2 gifts is:

6.

0,064A.

0,48B.

0,224C.

0,096D.

7.

B and CA.

A and CB.

A and DC.

C and DD.

Three teams A, B and C participate in a competition. The probability that
team A will win the prize is twice the probability that team B will win it.
The ratio of the probability that team B will win the competition to the
probability that team C will win is 2:3. The probability that team A will
win the competition is:

8.
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0,44A.

0,22B.

0,16C.

0,33D.

Two boxes A and B contain 50 balls numbered {1 ,2 ,3 ,…,49,50} each.
From each box we randomly select one ball. The probability that the
number of the ball selected from box B is less than that of box A is:

9.

0,52A.

0,48B.

0,51C.

0,49D.

There are 7 cards numbered with positive integers. Two of them have the
numbers 2 and 6. The median of the numbers on the cards is 8, the mode
is 2 and 10, and the mean value is 7. The numbers on the cards could be:

10.

{2, 6, 2, 10, 10, 8, 11}A.

{2, 6, 2, 10, 10, 8, 9}B.

{2, 6, 2, 8, 10, 9, 12}C.

{2, 6, 5, 10, 10, 8, 8}D.
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